ENVIRONMENTAL RESOLUTIONS 2023 VOORHEES ROAD IMPROVEMENT PROGRAM 2023 VOORHEES ROAD IMPROVEMENT PROGRAM TOWNSHIP OF VOORHEES, NEW JERSEY **Bid Summary** TOWNSHIP OF VOORHEES, NEW JERSEY Bid Opening 05/23/24 at 11:00 AM 27130 23 27130 23 Black Rock Enterprises. Engineer's Estimate Farle Co Lexa Concrete, LLC LLC PO Box 556 1316 Englishtown Road 11 Commerce Way Drive Old Bridge, NJ 08857 Farmingdale, NJ 07727 Hammonton, NJ 08037 Environmentai RESOLUTIONS, INC. Englacers - Flaunces - Scientists - Surveyore P: 732-308-1113 ext. 206 P: 609-704-5311 P: 732-967-6400 F: 732-308-1034 F: 609-704-5355 F: 732-967-6402 DESCRIPTION UNIT UNIT PR. AMOUNT UNIT PR. AMOUNT UNIT PR. AMOUNT UNIT PR. **AMOUNT** NO QYT BASE BID - NJDOT FY 2023 Municipal Aid - Laurel Oak Road Resurfacing Project - Phase II \$15.000.00 \$15,000,00 \$39.384.38 \$39.384.38 \$10,000,00 \$10.000.00 \$49.523.70 \$49.523.70 Clearing Site & Grading 1 LS 15500 SY \$77,500.00 \$4.80 2 Milling, 3" or Less \$5.00 \$74,400.00 \$5.25 \$81,375.00 \$3.75 \$58,125.00 3 Hot Mix Asphalt 9.5 M 64. Surface Course 1950 Tons \$90.00 \$175.500.00 \$90.00 \$175.500.00 \$114.00 \$222,300.00 \$98.00 \$191,100.00 1000 SY 4 Hot Mix Asphalt Pavement Repair (If & Where Directed) \$20.00 \$20,000,00 \$11.80 \$11.800.00 \$0.01 \$10.00 \$0.01 \$10.00 5 2000 LF \$6,500.00 Fabric Join Sealing (If & Where Directed) \$3.00 \$6,000,00 \$2.50 \$5,000.00 \$0.01 \$20.00 \$3.25 8500 LF \$3.00 \$25,500.00 \$8,500.00 \$0.50 \$4,250.00 6 Polymerized Joint Adhesive \$0.01 \$85.00 \$1.00 Concrete Vertical Curb, 6" x8"x18" 800 LF \$50.00 \$40,000,00 \$39.00 \$31,200.00 \$70.00 \$56,000.00 \$40.00 \$32,000.00 8 Concrete Sidewalk, 4" Thick 300 SY \$110.00 \$33,000.00 \$110.50 \$33,150.00 \$160.00 \$48,000.00 \$110.00 \$33,000.00 9 Detectable Warning Surface 23 Units \$300.00 \$6,900.00 \$232.25 \$5,341.75 \$150.00 \$3,450.00 \$1,000.00 \$23,000.00 100 LF \$30.00 \$2,000.00 \$4,500.00 10 Concrete Header Curb (If & Where Directed) \$3,000,00 \$20.00 \$50.00 \$5,000.00 \$45.00 \$21,000.00 11 Reconstructed Inlet, Type Double B, Using Existing Casting 7 Units \$3,000.00 \$21,000.00 \$1.470.00 \$10,290.00 \$3.000.00 \$4,000.00 \$28,000.00 12 Reconstructed Inlet, Tyle B. Using Existing Casting 1 Units \$2,000.00 \$2,000.00 \$929.50 \$929.50 \$2,500.00 \$2.500.00 \$2.500.00 \$2.500.00 10 Units 13 Regulatory and Warning Sign \$250.00 \$2.500.00 \$200.75 \$2.007.50 \$200.00 \$2,000.00 \$291.50 \$2.915.00 14 Traffic Stripes, 4" 10400 LF \$1.00 \$10,400.00 \$0.75 \$7.800.00 \$0.52 \$5.408.00 \$0.77 \$8.008.00 15 Traffic Stripes, 8" 1000 LF \$2.00 \$2,000.00 \$1.50 \$1,500.00 \$1.04 \$1.040.00 \$1.54 \$1,540.00 16 Traffic Marking Lines, 6" 7500 LF \$2.00 \$15,000,00 \$1.15 \$8.625.00 \$1.30 \$9.750.00 \$1.16 \$8,700.00 17 Traffic Marking Lines, 24" 2000 LF \$5.00 \$10,000.00 \$4.55 \$9,100.00 \$5.10 \$10,200.00 \$4.62 \$9,240.00 18 Traffic Marking Symbols 500 SF \$15.00 \$7,500.00 \$10.85 \$5,425.00 \$7.40 \$3,700.00 \$11.00 \$5,500.00 RPM, Bi-Directional, Amber Lens 100 Units \$40.00 \$4,000.00 \$48.75 \$42.00 19 \$4,875.00 \$4,200.00 \$49.50 \$4,950.00 20 Asphalt Price Adjsutment 1 LS \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 1 LS \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 21 Fuel Price Adjustment \$500.00 \$500.00 SUBTOTAL AMOUNT FY 2023 MUNICIPAL AID GRANT \$477,800,00 \$429,413,13 \$495,453,00 \$474.361.70 NJDOT FY 2023 Bikeways- Kirkwood Park Bike Path & Old Egg Harbor Road Bike Path Clearing Site & Grading 1 LS \$40,000.00 \$40,000.00 \$37,780.25 \$37,780.25 \$15,000.00 \$15,000.00 \$60,000.00 \$60,000.00 23 Pulverize Asphalt Path in Place 4700 SY \$37,600,00 \$8.25 \$38,775.00 \$5.25 \$24.675.00 \$10.00 \$47.000.00 8.00 HMA Milling, 3" or Less 545 SY \$5.00 \$2,725.00 \$7.55 \$4,114.75 \$5.25 \$2,861.25 \$10.00 \$5,450.00 25 Hot Mix Asphalt Pavement Repair (If & Where Directed) 25 SY \$20.00 \$500.00 \$11.80 \$295.00 \$105.00 \$2.625.00 \$100.00 \$2,500.00 26 Hot Mix Asphalt 9.5 M 64, Surface Course 930 TON \$90.00 \$83,700.00 \$135.00 \$125,550.00 \$173.25 \$161,122.50 \$175.00 \$162,750.00 27 Dense Graded Aggregate, 4" Thick 1500 SY \$8.00 \$12,000.00 \$4.25 \$6.375.00 \$21.00 \$31,500.00 \$12.00 \$18,000.00 250 LF \$3.00 28 Polymerized Joint Adhesive \$750.00 \$0.01 \$2.50 \$1.00 \$250.00 \$2.00 \$500.00 50 LF Concrete Vertical Curb. 6" x8"x18" \$50.00 \$2,500.00 \$44.00 \$2,200.00 \$100.00 \$5,000,00 \$50.00 \$2,500.00 29 30 Concrete Sidewalk, 4" Thick 190 SY \$110.00 \$20,900.00 \$120.75 \$22.942.50 \$180.00 \$34.200.00 \$150.00 \$28.500.00 9 UN \$2,700.00 \$232.00 \$150.00 \$1.350.00 \$1,000.00 \$9,000.00 31 Detectable Warning Surface \$300.00 \$2,088.00 Bicvcle Safe Grate 3 UN \$500.00 \$1.500.00 \$392.50 \$1,177,50 \$400.00 \$1,200.00 \$400.00 \$1,200.00

			11				<u> </u>					
ENVIDONMENTAL RESOLUTIONS				2023 VOORHEES ROAD IMPROVEMENT PROGRAM				2023 VOORHEES ROAD IMPROVEMENT PROGRAM				
ENVIRONMENTAL RESOLUTIONS												
Bid Summary				TOWNSHIP OF VOORHEES, NEW JERSEY				TOWNSHIP OF VOORHEES, NEW JERSEY				
	Bid Opening 05/23/24 at 11:00 AM				27130 23				27130 23			
			Engineer's Estimate		Earle Co.		Lexa Concrete, LLC		Black Rock Enterprises, LLC			
	ENVIRONMENTAL RESOLUTIONS, INC. Emplacers - Hanners - Scientisch - Ehrvepere						PO Box 556 Farmingdale, NJ 07727		11 Commerce Way Drive Hammonton, NJ 08037		1316 Englishtown Road Old Bridge, NJ 08857	
						raminguale	5, 110 01121	riammonton	1, 110 00007	l Old Bridge,	110 00001	
						D: 722 200 1	112 ovt 206	D: 600 70	04 5211	D: 722 0	67 6400	
							P: 732-308-1113 ext. 206		P: 609-704-5311		P: 732-967-6400	
						F: 732-308-1034		F: 609-704-5355		F: 732-967-6402		
NO	DESCRIPTION	 	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	
	Decorative Bollards		UN	\$1,000.00	\$6,000.00	\$2,320.00		\$1,000.00	\$6,000.00	\$2,500.00	\$15,000.00	
34	Decorative Bench w/6" Thick Reomforced Concrete Pad		UN	\$5,000.00	\$5,000.00	\$7,900.00	\$7,900.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00	
35	Regulatory and Warning Sign	17 l	_	\$250.00	\$4,250.00	\$146.50		\$150.00	\$2,550.00	\$291.50	\$4,955.50	
36	Traffic Marking Symbols	340	SF	\$15.00	\$5,100.00	\$10.85	\$3,689.00	\$7.40	\$2,516.00	\$11.00	\$3,740.00	
	SUBTOTAL AMOUNT FY 2023 SAFE STREETS	TO TRANSIT GF	RANT	\$225,2	225.00	\$269,3	300.00	\$293,8	49.75	\$368,5	595.50	
NJDOT FY 2023 Safe Streets to Transit- Evesham Road Sidewalk Improvements - Phase III & Burnt												
Mill Roa	ad Sidewalk Improvements - Phase II											
37	Clearing Site & Grading	1 L	LS	\$80,000.00	\$80,000.00	\$94,924.25	\$94,924.25	\$10,000.00	\$10,000.00	\$85,000.00	\$85,000.00	
38	HMA Milling, 3" or Less	235	SY	\$5.00	\$1,175.00	\$28.50	\$6,697.50	\$45.00	\$10,575.00	\$40.00	\$9,400.00	
39	Hot Mix Asphalt 9.5 M 64, Surface Course	35	TON	\$90.00	\$3,150.00	\$268.50	\$9,397.50	\$450.00	\$15,750.00	\$250.00	\$8,750.00	
	Concrete Sidewalk, 4" Thick	3550	SY	\$110.00		\$78.50	\$278,675.00	\$125.00	\$443,750.00	\$110.00	\$390,500.00	
41	Concrete Vertical Curb, 6"x8"x18"	500 l	LF	\$50.00	\$25,000.00	\$44.50	\$22,250.00	\$60.00	\$30,000.00	\$55.00	\$27,500.00	
42	Concrete Header Curb (If & Where Directed)	450 L		\$30.00	\$13,500.00	\$20.00		\$50.00	\$22,500.00	\$60.00	\$27,000.00	
	Detectable Warning Surface	21 (UN	\$300.00	\$6,300.00	\$245.00		\$150.00	\$3,150.00	\$1,000,00	\$21,000.00	
	Hot Mix Asphalt Driveway, 3" Thick	15 \$	_	\$35.00	\$525.00	\$59.00	\$885.00	\$70.00	\$1,050.00	\$50.00	\$750.00	
	Concrete Driveway, 6" Thick	165 \$		\$120.00	\$19,800.00	\$118.25		\$130.00	\$21,450.00	\$140.00		
	Concrete Cheek Wall, Less Than 4' High (If & Where Directed)	100 L		\$150.00	\$15,000.00	\$238.50	. ,	\$100.00	\$10,000.00	\$180.00	, .,	
	Regulatory and Warning Sign	30 (\$250.00	\$7,500.00	\$212.75		\$200.00	\$6,000.00	\$300.00	\$9,000.00	
48	3" Rigid Metallic Conduit (If & Where Directed)	450 L	LF	\$50.00	\$22,500.00	\$60.00	\$27,000.00	\$70.00	\$31,500.00	\$82.50	\$37,125.00	
49	Junction Box, 18" x 36" (If & Where Directed)	4 l	UN	\$2,500.00	\$10,000.00	\$2,000.00	\$8,000.00	\$1,850.00	\$7,400.00	\$2,640.00		
	Foundation, Type SPF	8 (\$1,800.00	\$14,400.00	\$2,000.00		\$7,400.00	\$59,200.00	\$1,595.00		
	Traffic Signal Cable, 2 Conductor	1000 L		\$3.00	\$3,000.00	\$3.00		\$4.00	\$4,000.00	\$3.03	. ,	
	Traffic Signal Cable, 5 Conductor	1500 l		\$5.00	\$7,500.00	\$3.80	. ,	\$5.00	\$7,500.00	\$3.85	\$5,775.00	
	Insulated Ground Wire, No. 8 AWG	500 L		\$3.00	\$1,500.00	\$3.25		\$2.00	\$1,000.00	\$3.30	\$1,650.00	
	Pedestrian Signal Standard	8 (\$750.00	\$6,000.00	\$1,820.00		\$1,350.00	\$10,800.00	\$1,848.00	\$14,784.00	
	Pedestrian Signal Head	12 (\$1,200.00	. ,	\$1,480.00		\$1,000.00	\$12,000.00	\$1,501.50	. ,	
	Push Button	15 l	_	\$750.00	\$11,250.00	\$624.00	\$9,360.00	\$500.00	\$7,500.00	\$632.50	\$9,487.50	
	Push Button Signage Controller Modification	15 l 2 l		\$200.00 \$5,000.00	\$3,000.00 \$10,000.00	\$32.50	\$487.50 \$9,120.00	\$55.00 \$70.00	\$825.00 \$140.00	\$33.00 \$5,000.00	\$495.00 \$10,000.00	
	Controller Modification Controller/Turn-On	2 (\$5,000.00	· /	\$4,560.00 \$3,500.00		\$6,500.00	\$140.00 \$13,000.00	\$5,000.00 \$5,000.00	. ,	
	Traffic Markings Lines, 6"	1090 [_	\$5,000.00	\$10,000.00	\$3,500.00 \$1.15	. ,	\$6,500.00	\$13,000.00	\$5,000.00 \$1.16	\$10,000.00	
	Traffic Markings Lines, 6 Traffic Markings Lines, 24"	620 1		\$5.00	\$3,100.00	\$4.55		\$5.10	\$3,162.00	\$4.62	. ,	
	Remove Tree	7 (\$1,250.00	\$8,750.00	\$3,000.00	. ,	\$1,000.00	\$7,000.00	\$2,500.00	\$17,500.00	
	Large Deciduous Tree, 2-2 1/2" Caliper	7 (_	\$1,250.00	\$8,750.00	\$500.00		\$675.00	\$4,725.00	\$1,200.00	\$8,400.00	
	Chain Link Fence, 4' High	150 L	_	\$50.00	\$7,500.00	\$50.75	. ,	\$35.00	\$5,250.00	\$82.50	\$12,375.00	
						7	T . ,					
65	Retaining Wall, Less than 4' High	450 L	LF I	\$150.00	\$67,500.00	\$280.001	\$126,000.00	\$65.00	\$29,250.00	\$150.00	\$67,500.00	

ENVIRONMENTAL RESOLUTIONS 2023 VOORHEES ROAD IMPROVEMENT PROGRAM 2023 VOORHEES ROAD IMPROVEMENT PROGRAM **Bid Summary** TOWNSHIP OF VOORHEES, NEW JERSEY TOWNSHIP OF VOORHEES, NEW JERSEY Bid Opening 05/23/24 at 11:00 AM 27130 23 27130 23 Black Rock Enterprises. Engineer's Estimate Farle Co Lexa Concrete, LLC LLC 1316 Englishtown Road PO Box 556 11 Commerce Way Drive Farmingdale, NJ 07727 Hammonton, NJ 08037 Old Bridge, NJ 08857 Environmentai RESOLUTIONS, INC. Englacers - Flaunces - Scientists - Surveyore P: 732-308-1113 ext. 206 P: 609-704-5311 P: 732-967-6400 F: 732-308-1034 F: 609-704-5355 F: 732-967-6402 UNIT PR. UNIT PR. UNIT PR. AMOUNT NO DESCRIPTION QYT UNIT **AMOUNT AMOUNT** AMOUNT 67 Thrie Beam Guide Rail 25 LF \$100.00 \$2,500,00 \$211.50 \$5.287.50 \$300.00 \$7.500.00 \$280.50 \$7.012.50 50 LF \$50.00 \$2,500.00 \$81.50 \$4.075.00 \$150.00 \$7,500.00 \$148.50 \$7,425,00 Tangent Guide Rail Terminal SUBTOTAL AMOUNT FY 2023 SAFE STREETS TO TRANSIT GRANT \$780,780.00 \$769,400.00 \$798,894.00 \$881,325.80 Base Bid - NON-NJDOT Sharing - Chippenham Drive- Phase II, Brambling Lane, Covington Lane -Phase I, Lennox Avenue, Ford Street, Linden Avenue, Chestnut Avenue, Walnut Avenue, Second Street, Seguoja Court, Heron Court, Bittern Court, Flamingo Court, South Terrace Boulevard & Miscellaneous Crack Sealing \$1,500.00 Roadway Excavation \$2,250,00 \$1.500.00 30 CY \$75.00 \$0.01 \$0.30 \$50.00 \$50.00 70 HMA Milling, 1.5" 3205 SY \$4.00 \$12.820.00 \$6.50 \$20.832.50 \$9.00 \$28.845.00 \$5.00 \$16.025.00 22235 SY \$5.00 \$111,175.00 \$144,527.50 \$82,269.50 HMA Milling, 2" \$6.50 \$5.75 \$127,851.25 \$3.70 \$61,280.00 72 HMA Milling, 5" 7660 SY \$8.00 \$61,280,00 \$8.50 \$65,110,00 \$10.25 \$78,515.00 \$8.00 730 TON \$90.00 \$65.700.00 \$76,650.00 \$94.900.00 \$98.00 Hot Mix Asphalt 9.5 M 64. Surface Course, 1.5" Thick \$105.00 \$130.00 \$71.540.00 Hot Mix Asphalt 9.5 M 64, Surface Course, 2" Thick 3075 TON \$90.00 \$276,750.00 \$105.00 \$322,875.00 \$123.00 \$378,225.00 \$96.00 \$295,200.00 680 TON \$90.00 \$61,200,00 \$85,000.00 \$105.00 75 Superpave HMA, 9.5 M 64 Surface Course, 2" Thick \$105.00 \$71,400.00 \$125.00 \$71,400,00 1445 TON \$90.00 \$130.050.00 \$95.00 \$137.275.00 \$105.00 \$151.725.00 \$100.00 \$144.500.00 Hot Mix Asphalt 19 M 64. Base Course. 3" Thick Superpave HMA, 19 M 64 Base Course, 3" Thick 25 TON \$90.00 \$2,250.00 \$75.00 \$125.00 \$3,125.00 \$100.00 \$2,500.00 \$1,875.00 Hot Mix Asphalt Pavement Repair (If & Where Directed) 2300 SY \$20.00 \$46,000,00 \$11.80 \$27,140.00 \$0.50 \$1,150,00 \$40.00 \$92,000.00 78 79 850 SY \$15.00 \$12,750.00 \$3,910.00 \$850.00 \$14.00 \$11,900.00 Dense Graded Aggregate, 6" Thick (If & Where Directed) \$4.60 \$1.00 80 Fabric Joint Sealing (If & Where Directed) 4530 LF \$3.00 \$13,590.00 \$2.65 \$12,004.50 \$0.25 \$1,132.50 \$5.00 \$22,650.00 Polymerized Joint Adhesive 12125 LF \$3.00 \$36,375.00 \$0.01 \$121.25 \$1.25 \$15.156.25 \$0.50 \$6,062.50 81 Hot Mix Asphalt Driveway, 3" Thick 320 SY \$11,200.00 \$21,360.00 \$90.00 \$28,800.00 \$45.00 \$14,400.00 82 \$35.00 \$66.75 83 Concrete Driveway, 6" Thick 155 SY \$120.00 \$18,600,00 \$146.75 \$22,746,25 \$130.00 \$20.150.00 \$120.00 \$18,600,00 Concrete Sidewalk, 4" Thick 470 SY \$110.00 \$51,700.00 \$116.50 \$54,755,00 \$135.00 \$63,450.00 \$110.00 \$51,700,00 84 85 Detectable Warning Surface 34 UN \$300.00 \$10,200.00 \$354.00 \$12,036.00 \$150.00 \$5,100.00 \$1,000.00 \$34,000.00 86 Concrete Vertical Curb. 6"x8"x18" 1335 LF \$50.00 \$66,750.00 \$39.25 \$52,398.75 \$50.00 \$66,750,00 \$50.00 \$66,750.00 1815 LF 87 Monolithic Concrete Curb and Gutter \$60.00 \$108,900.00 \$60.25 \$109.353.75 \$70.00 \$127.050.00 \$60.00 \$108.900.00 \$4,500.00 \$5,500,00 \$5,500.00 88 Inlet, Type B 1 UN \$4,500.00 \$6.798.20 \$6,798.20 \$5,500.00 \$5,500.00 89 Inlet, Type B, Open Bottom 1 UN \$4.500.00 \$4.500.00 \$8.800.00 \$8.800.00 \$5.500.00 \$5.500.00 \$6.500.00 \$6.500.00 90 Reconstructed Inlet, Type B, Using Existing Casting 14 UN \$2,000.00 \$28,000.00 \$913.50 \$12,789.00 \$1,500.00 \$21,000.00 \$2,500.00 \$35,000.00 91 Bicycle Safe Grate 34 UN \$500.00 \$17,000.00 \$609.00 \$20,706.00 \$400.00 \$13,600.00 \$400.00 \$13,600.00 Curb Piece 34 UN \$500.00 \$17,000,00 \$13,345.00 \$400.00 \$13,600,00 \$400.00 \$13,600,00 92 \$392.50 93 12" Ductile Iron Pipe 28 LF \$120.00 \$3,360.00 \$350.00 \$9,800.00 \$250.00 \$7,000.00 \$200.00 \$5,600.00 15" Perforated Corrugated Plastic Pipe 20 LF \$100.00 \$2,000.00 \$3,000.00 \$250.00 94 \$250.00 \$5,000.00 \$150.00 \$5,000.00 Traffic Markings Lines, 6" 1600 LF \$2.00 \$3,200.00 \$1,840.00 \$1.30 \$2,080.00 \$1,856.00 95 \$1.15 \$1.16 Traffic Markings Lines, 24" \$4.62 96 1770 LF \$5.00 \$8,850.00 \$4.55 \$8,053.50 \$5.10 \$9,027.00 \$8,177.40

\$1,250.00

\$1.250.00

\$1,250.00

\$1,250,00

\$3,255.00

\$542.50

\$3,255.00

\$542.50

\$1,000.00

\$700.00

\$1,000.00

\$700.00

\$3,000.00

\$1.500.00

\$3,000.00

\$1,500.00

1 UN

1 UN

97

Remove Tree

Large Deciduous Tree, 2-2 1/2" Caliper

ENVIRONMENTAL RESOLUTIONS Bid Summary Bid Opening 05/23/24 at 11:00 AM				2023 VOORHEES ROAD IMPROVEMENT PROGRAM TOWNSHIP OF VOORHEES, NEW JERSEY 27130 23				2023 VOORHEES ROAD IMPROVEMENT PROGRAM TOWNSHIP OF VOORHEES, NEW JERSEY 27130 23				
				Engineer's Estimate		Earle Co.		Lexa Concrete, LLC		Black Rock Enterprises, LLC		
	Environmental Resolutions, Inc.						PO Box 556 Farmingdale, NJ 07727 P: 732-308-1113 ext. 206 F: 732-308-1034		11 Commerce Way Drive Hammonton, NJ 08037 P: 609-704-5311 F: 609-704-5355		1316 Englishtown Road Old Bridge, NJ 08857 P: 732-967-6400 F: 732-967-6402	
Englacers - Hanners - Schmidt - Skruppers												
NO	DESCRIPTION	QYT	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	
99 Crack S			00 LF	\$9.00			\$7,500.00			\$2.00		
	Crack Sealing		00 LF	\$13.50			\$6,750.00	\$2.00	\$2,000.00	\$6.00	\$6,000.00	
	Rock (If & Where Directed)		25 SY	\$100.00	\$2,500.00		\$1,500.00	· ·	\$1,250.00	\$100.00	\$2,500.00	
	n Control Mat (If & Where Directed)		50 SY	\$100.00	. ,		\$50.00	\$10.00	\$500.00	\$20.00	. ,	
	SUBTOTAL AMOUNT BASE BID - N	JDOT NON-S	HARING	\$1,256		\$1,263,	100.00	\$1,375,	,032.00	\$1,292,	010.40	
SUBTOTAL AMOUNT BASE BID			TOTAL	\$2,740,255.00		\$2,731,213.13		\$2,963,228.75		\$3,016,293.40		
ALTERNATE E	BID #1 - Battery Hill Drive - Phase II & Henley Lane											
A1.1 HMA M	filling, 2"	55	90 SY	\$5.00	\$27,950.00	\$6.50	\$36,335.00	\$5.75	\$32,142.50	\$5.00	\$27,950.00	
	x Asphalt 9.5 M 64, Surface Course, 2" Thick	11:	20 TON	\$90.00	\$100,800.00	\$103.50	\$115,920.00	\$125.00	\$140,000.00	\$105.00	\$117,600.00	
A1.3 Hot Mix	Asphalt Pavement Repair (If & Where Directed)	5	50 SY	\$20.00	\$11,000.00	\$11.80	\$6,490.00	\$0.50	\$275.00	\$0.01	\$5.50	
	Joint Sealing (If & Where Directed)	12	50 LF	\$3.00	\$3,750.00		\$3,125.00	\$0.10	\$125.00	\$5.00	\$6,250.00	
A1.5 Polyme	erized Joint Adhesive	26	50 LF	\$3.00	\$7,950.00	\$0.01	\$26.50	\$1.00	\$2,650.00	\$1.00	\$2,650.00	
A1.6 Concre	te Driveway, 6" Thick		I0 SY	\$120.00	\$1,200.00	\$162.25	\$1,622.50	\$130.00	\$1,300.00	\$175.00	\$1,750.00	
	Asphalt Driveway, 3" Thick		I0 SY	\$35.00	\$350.00	\$80.50	\$805.00	\$250.00	\$2,500.00	\$75.00	\$750.00	
A1.8 Monolit	thic Concrete Curb and Gutter		00 LF	\$60.00	\$12,000.00	\$60.25	\$12,050.00	\$70.00	\$14,000.00	\$60.00	\$12,000.00	
A1.9 Concre	te Vertical Curb, 6"x8"x18"	1	75 LF	\$50.00	\$8,750.00	\$39.25	\$6,868.75	\$70.00	\$12,250.00	\$50.00	\$8,750.00	
A1.10 Concre	te Sidewalk, 4" Thick		20 SY	\$110.00	\$2,200.00	\$116.50	\$2,330.00	\$180.00	\$3,600.00	\$150.00	\$3,000.00	
	able Warning Surface		3 UN	\$300.00	\$900.00	\$1,610.00	\$4,830.00		\$450.00	\$1,000.00	\$3,000.00	
	structed Inlet, Type B, Using Existing Casting		7 UN	\$2,000.00	\$14,000.00	\$913.50	\$6,394.50		\$10,500.00	\$2,500.00		
	structed Inlet, Type Double B, Using Existing Casting		1 UN	\$3,000.00	\$3,000.00		\$1,517.50	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
A1.14 Bicycle	Safe Grate		15 UN	\$500.00	\$7,500.00	\$392.50	\$5,887.50	\$400.00	\$6,000.00	\$375.00	\$5,625.00	
A1.15 Curb Pi			15 UN	\$500.00	\$7,500.00	\$392.50	\$5,887.50	\$400.00	\$6,000.00	\$375.00	\$5,625.00	
	Markings Lines, 6"		60 LF	\$2.00	\$120.00		\$69.00		\$78.00	\$1.16	\$69.60	
	Markings Lines, 24"		75 LF	\$5.00	·		\$341.25	\$5.10	\$382.50	\$4.62	\$346.50	
TOTAL AMOUNT ALTERNATE BID #1				\$209,345.00		\$210,500.00		\$235,253.00		\$215,871.60		
ALTERNATE E	BID #2 - Additional Paving											
	filling, 3" or Less	20	00 SY	\$5.00	\$10,000.00	\$6.00	\$12,000.00	\$7.25	\$14,500.00	\$8.00	\$16,000.00	
	x Asphalt 9.5 M 64, Surface Course		0 Tons	\$90.00	\$22,500.00		\$30,000.00	\$125.00	\$31,250.00	\$150.00		
	Asphalt Pavement Repair (If & Where Directed)	2	00 SY	\$20.00	\$4,000.00		\$2,400.00	\$75.00	\$15,000.00	\$40.00	\$8,000.00	
	Joint Sealing (If & Where Directed)		00 LF	\$3.00	\$1,500.00		\$1,000.00		\$1,000.00	\$5.00	. ,	
	erized Joint Adhesive		00 LF	\$3.00			\$100.00			\$1.00		
. ,	TOTAL AMOUNT ALTERNATE BID #2				00.00	\$45,50		\$61,9		\$64,10		
	TOTAL BASE BID & ALTERNATE BID #1 & #2			\$2,987,900.00		\$2,987,213.13		\$3,260,431.75		\$3,296,265.00		